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Part I: (9 points) MULTIPLE CIIOICE QUESTIONS: (MCQ)
[Bubble the correct answer on the OMR sheet]

1. For f(x)= 3533[%)%1 _which one of the following statements is TRUE?

T he range of f is [4,0).

) The period of f 15 4.
€) The domain of f is (~w,e0).

d) The amplitude of f is 3.

2. Let n be any integer. The equation of the yertical asymptote of the funetion f(x)=-2 ¢s¢(?) ig

in the form:

x=2n

b)Y x=2n+l
£) x=4n

d) x=(2n+1)7r

3. t@nlos’ =

1+

B) 1443

<) 2-43

d)  -2++3
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4 For the vectors u,v and w shown in the Sgure. Which one of the following relations is TRUE

u+v+w=0

B v+rw—u=0 “ v
¢) wtu—-v=0
dy u+v-w=40 w

5. The set of solutions of the trigonometric equation sin3x=1, where »is an integer, is:

%"’-(1+4n) |

B) 1;—(1+4n)
¢) %(1 +3n)

d) 3;-(1+5n)

6. Which one of the following is UNDEFINED?

d) . sec(sec" g]



__FROM : PREP-YERR MATH PROG

FR= MO, @ BE366386682373 Aug., BZ 2083 82:33AM F3

MASTER
" MATH 002 - T023 (SECOND) Page 3 of 7 j
part 0 (7 poins) [Fill in the blanks in the following questionsj:
{Show your sieps] - @
1. Givencos200 = x, then ¢os100" (in terms of x}i8 oovvvenns Zn
pmi © i P — [+ %
(o5 fus' = Cog L = o JIres 3
2
2. For any integer 7, cos{(2n+1)m)=......... _‘ .....
tes(2nhi+ ) =cos =~
3. The period of the function f(x)= L IR A D
> © Retle ’ cos3xcosx+sindxsinx
{ . —
- - = Secz X -"—5134"\041311: |
Cas(3% - 1) Ceg 2% 2
4, The maximum valge of the function f(x)=3sinx—4cosx is....... 5.
(> L ‘sl
vIi+Y = 25 = S
5. Ifcos"mksin‘lﬂ:ﬂ,then X = iiiinninnrbieanans
-t : -1 = cos U=/
s x4 B o= SO = ces x= T >X7 cos
T
6. cos l(cos%r]= ............. mBS{‘ ......
y ! : q—l! = (x Cos H = 37"
Ce $ T = Ccs 35_“" = (a8 6—""5 "“‘-)' C S

=(~L1) andv={4,4) are two vectors, then the smallest positive angle between » and v
ig ..... L B o L ‘? ¢ @

~{
WY = —Yipfzo = G=Cs o= _;T:
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Part IIT: WRITTEN QUESTIONS .
[Provide neat and compiete solution to each question, Show necessary steps for full credit.]

: 3 T
i. (5 points) Given the function Flx)= Ecot[Zx———-).

4
a) The Periodof f is1 ji. ( \P{:-)
T _ 3 ‘
b) The Phase shifi of f 181 = %‘L— = -%T ( \ \*}{r)

. (4 points) Given cosa *_?3 & in Quadrant I, andsin § = — >, f in Quadrant I, find
sin[a ﬁjcos[mj.
) 2

e e
L aSin (1) ees(458) =5 Sinle

1 pt) | |
( | 5_\ 2

C[}ﬂ:—) -z

= - [Sinu Cos @ - Cosed Sin F]

2 -2 S )% 7?+I§xi§“
SN A e

s ) s 3 £s 13¢
Lok L -7 |
lfi? f G L
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3. ( 3 points) Given cos{%—x] -.—%, where 342 < x <, find the cxact value oftan 2x.
P G -E (gt
e ( = g s
S:fﬂ o= L = _}_&\v\'}kr \f’ \[‘;_" [
= 3 ~
7L Aan % C&_?Ji')
Fain Ut T 7
[ — Aot K
*-'q'(a_ "-'\qf'_a ([ {
\ 74
[~ 7 4

R - . T Fi3
4. ( 4 points) Find the solution set of the trigonometric equation tan[%+gj =1- cos(x +§) ,

where 0 < x < 27 . ( Hint: you can use the half-angle Identities)

o Sin (X Eg) = | —cos (X+ 3)
, 1 . )= -——0._2x_ = l S
,,I-&n(%f —Er):’}““ 'z.(x j) (vcos (xx8) ((?L)

C,ogaC‘j:.T g) = gif\l(}{f‘ %‘)

Sin (A g) = 1=~
(\f)&-)

g)‘n(tﬁh %) ( Cialrr g) --—'\> = -

B
E: v :,:)x+y\ﬁ 5

Sin (xr -‘:—S-) = =2 X7 X A , 5
3)( sy o (LP{-X
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5. ( 3 points) Given the vectors u=3i+4/ and v=2i+j, find
a) The dot product u-v

Cipt)

(_,I,,U::é-FL{:/Q

b) The magnjtudes of u and v.

= J9+ 14 } (\P*)

”L/f{: Lff‘/

¢) The value of proju.

- AV _ o wE —
Yda A — ___‘._t.—--—* - —— —— - — -_—
Ty R
2
6. (3 points) Verify the identity o> =¥ COS2X 2sin* 2.
(_)+cosx 2
. g L (hecos 2 )X Ix Ceg 1)
L HS Cas A -——( 2,-:.5_\; x-)___ j—Ce —
————e S {xcc 1
' I+ Coy X

[ Ces %

)a-u_*.x A )
_-Jﬂcuaa 2( )a&z

(lf(‘) Clplc.)
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7. { 3 points) If sin 40" +cos 40" =ksin(4), then find the values of & and 5. ( { )
-- S e CIF
Dinfe 4 Cos ve = ﬁ PR M)
0 { ol = ,L = if’ﬂ.go ({P‘l>
Smpl\ = \-r— G S = NES

<

L]

g\:r« %“L%ij‘—/ac: \G S‘J‘f\ &<

k=Vi 4p2 g5 (1?4)

8. ( 3 points) Find the value of cot(z cse™ %é}

C,;‘E(ZCJ‘C U) _
1[‘““@ ! E) p 2
I G aq N -5

2. “J'Z‘&v\ (C_S'C d "Lg)

&
_.j-[g j"%w

D—C')Uy*) B
7. 2 g (1ph)

/?‘Y ] /2




